POP Nut Tool Parts List

Marked # © Option
AN500A
ANS500A
. Mandrel Nosepiece m
Trad Size Part No. Diameter Part No. Hole 6 a @
M3 =05 ANS00A-04-3 #3.0 ANS00A-05-3H $4.0
Ma =07 AN500A-04-4 4.0 ANS00A-05-4H $4.5 Lockn ut Ma ndrel
M5 0.8 ANS500A-04-5 ?5.0 ANS00A-05-5H $5.1 Nosepiece Mosehousing
EN6OOA/ENT000A Mok sesernbly
EN600A Stopper pin []
= Stopper spring ——
Thread Size Mandrel . Nosepiece Y
: | PartNo. | Diameter Part No. Hole )
M3X05 ENS-M3 630 | "ENS-M3HNP 640 il B | ec—pmz W
M4x0.7 ENS-M4 B4.0 ENS-M4HNP @45 | - n|dr |
~ M5x038 ENS-M5 $50 | ENS-MSHNP | @51 6 : Anare
M6x0.8 ENS-M6 $60 | ENS-MGHNP 6.1 o, SURRAIRY _
Nosepiece Pringhead assembly
ENT000A
i _ Mandrel _ Nosepiece Stopperspring
{Hraad e Part No. Diameter Part No. Hole Part No. Coil
M3 0.5 “ENS-M3 $3.0 “ENS-M3HNP 640
M4 > 0.7 FENS-M4 4.0 FENS-M4HNP 4.5 “EN-1000A-26 6
M5 0.8 "ENS-M5 350 "ENS-MSHNP $5.1
MEx1.0 ENS-M6 p6.0 ENS-MEHNP $6.1
M8 1.25 ENS-M8 ¢8.0 ENS-MBHNP ¢8.1 ANS00A-25 5
M10X1.5 ENS-M10 @10.0 ENS-MTOHNP $10.1
MN10A-S - =
‘ Mandrel cap
MN10A-S Nosepiece Mandrel
: Mandrel = | = Nosepiece
Thread Size —r Disrster Mandrel joint Spring pin FartNo. T Fiole
M3 0.5 *MN10-04-3A @30 *MN10-05-3 $3.1
M4 x0.7 WMN10-04-4A 4.0 o o MN10-05-4 p4.1
M5 % 0.8 MN10-04-5 @5.0 MN10-05-5 5.1
M&>1.0 MN10-04-6 ?6.0 MN10-05-6 P61
M8x1.25 *MN10-04-81 @80 " e *MN10-05-8 ®8.1
M10X1.5 *MN10-04-101 $100 MN10-04-82 MN10-04-83 *MN10-05-10 $10.]
MN10A-L - m== = =
Mandrel cap
MN10A-L Noseplece Mandrel |—Spnng pin Mandrel joint
g Mandrel o | i Nosepiece
Thread Size Part No. T Mandrel joint Spring pin part No. ] Hole
M3 x0.5 “MNT10-04-3A 3.0 “MN10-05-3 3.1
M4 < 0.7 *MNT10-04-4A 4.0 . . “MN10-05-4 B4l
M5=08 “MN10-04-5 $5.0 “MN10-05-5 $5.1 P
M6x1.0 MN10-04-6 6.0 MN10-05-6 $6.1 ;
_ M8X1.25 MN10-04-81 $8.0 MN10-05-8 ®8.1 o
M10X 15 MN10-04-101 6100 SABHE-A-E 100485 MN10-05-10 $10.1 -
-]
g
w
PNT110 -| 1 | 3 PNT210
Nosepiece Mandrel Nosepiece Mandrel
PNT110 PNT210
. Mandrel Nosepiece Mandrel Nosepiece
Thiesd e Part No. Diameter Part No. Hole e St Part No. Diameter Part No. Hole
T M3X05 | FAM400-284 | ¢30 | FAM400-288 | 632 — M4X07 | “FAM400-225 | 40 | "FAMA00-228| 642
MA=0.7 FAM400-285 $4.0 FAM400-289 B4, 7 M5 %08 | *FAMA00-224 $5.0 TFEAMA00-171 @5.2
M5x0.8 FAM400-286 $5.0 FAMA00-290 $5.2 M6 X 1.8 FAMA00-213 | @6.0 FAMA00-173 | ¢6.2
M6x1.0 FAM400-287 $6.0 | FAM400-291 $6.2 M8x1.25 | FAMA400-214 | @80 | FAM400-176 | @82
M10%1.5 | FAM400-215 | 100 | FAM400-178| ¢103
M12x1.75 | FAM400-216 | ¢12.0 FAM400-208 | ¢12.3

24 POP NN



